Ae ;. 9 U el & SR ST | YAd 35BS | T U

1.

Roll No.

DD-2064

M. Com. (Previous) EXAMINATION, 2020

(Compulsory Group)
Paper Fourth

STATISTICAL ANALYSIS
Time : Three Hours

Maximum Marks : 100
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Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.
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Give a proper definition of Statistics. Explain limitations

of Statistics and discuss the importance of Statistics in the

present time.
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What are the causes of distrust in Statistics ? Point out the
sources of errors causing distrust. Suggest remedies for

removing distrust.
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70 7
60 18
50 40
40 40
30 63
20 65

Calculate standard deviation and co-efficient of variation
from the following data :

Value (more than) Frequency

70 7

60 18
50 40
40 40
30 63
20 65
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0—10 150 90
10—20 90 63
20—30 50 50
30—40 32 40
40—50 20 30
50—60 12 30
60—70 5 20
70—80 2 12

The following table gives the distribution of the total
population and those who are blind among them. Find out
if there is any relation between age and blindness :

Age Population (°’000) No. of Blinds
0—10 150 90
10—20 90 63
20—30 50 50
30—40 32 40
40—350 20 30
50—60 12 30
60—70 5 20
70—80 2 12
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There are 10 boys and 20 girls in a class, in which half

boys and half girls have blue eyes. One representative is
selected at random from the class. What is the probability
that he is a boy or his eyes are blue ?
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A university has to select a examiner from a list of

50 persons 20 of them are women and 30 are men; 10 of

them know Hindi and 40 do not; 15 of them are teachers

and remaining 35 are not. What is the probability that

university will select a Hindi knowing women teacher ?
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“Decision criteria under situation of uncertainty are
governed by the attitude of the decision maker ? Explain.
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A group of 1000 fathers was studied and it was found that
12.9 percent had dark eyes, among them the ratio of those
having song with dark eyes to those having sons with not
dark eyes was 1 : 1.58. The number of cases where fathers
and sons both did not have dark eyes was 782. Calculate a
co-efficient of association between darkness of eye-colour
in father and son. Give the frequency that would have

been observed had there been completely no heredity.
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What do you understand by statistical quality control ?

Discuss its need and utility.
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25 23
30 26
35 30
40 35
45 42
50 51

Find the premium payable by a person of age 28 years :

Age Premium (%)
25 23
30 26
35 30
40 35
45 42
50 51
DD-2064 2,600
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